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General Instructlons j. » S
In cases where chozces are provzded students con attend all questwns in each sectwn

The mzmmum number of questwns to be attended from the Sectwn / Part shall rema;n the same.

 There will be an ovemll cezlmg for each Sectwn / Part that is equwalent to the maxtmum wer,ghtage '

of the Section/ Part
R ' Part A

Answer any four questwns _
Each question. carrr,es 2 wezghtage. C

Brleﬂy explam about elements of \nsual perceptlon

What do you meant by hlstogram equahzatlon ?

Deﬁne fast Walsh transform ' o

- Specify the propertles of 2D Fourler transform

Name the dlfferent types of derlvatlve filters.

Give the dlfference betweent Enhancement and Restoratlon

What is the need for Compressmn ?

Part B

Answer any four questwns ‘
Each questwn carries 3 wezghtage. ;

Descnbe samplmg and quantmatmn |
- How: does Histogram equalization achleve ﬁltermg ?

. Compare and contrast low pass and hlgh pass filters.
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‘DISCUSS about thresholdmg

Dlﬁ‘erenmate between sphttmg and mergmg used in 1mage segmentatlon R
Explam arlthmetlc codmg and run length codlng

What are the 1mage compressmn standards ? Explam

. Part C -
" Answer any two quéstions'. ‘ - . I ;

Each question carries' 5' weightoge.

; Wlth neat sketch explam the components of 1mage processmg system
erlte about homomorphlc ﬁltemng in spatlal and frequency domaln

What are the dlﬁ'erent steps. of Canny Edge detec.tlon algorlthm‘? Br1eﬂy descnbe the way gradlent

o '_1s eomputed

.18,

'Explam the concept of Huffman codmg w1th a sultable example Also explam how does 1t achleve

compression ?

(2x5=10 Weightage}
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